SBI PO Pre Memory Based Mock 2020 : 10-Nov-2021 (Solutions)

S1. Ans.(d)

Sol. For sentence (i), refer to 6t sentence of the second paragraph “For example, with increasing
automation in manufacturing, research and development in supply chain and logistics grows.” Hence
statement (i) is incorrect.

For sentence (ii), refer to the last 4th sentence of the 2n paragraph “This makes more and more jobs
redundant as machines guarantee efficiency as well as are a cost-effective alternative to human employees.
This forces people to continuously update themselves and hence leads to survival of the fittest.”

For sentence (iii), refer to the 8th sentence of the 2nd paragraph “Given the fact that these developments in
technology are endless, employment opportunities too will see an ever-increasing graph, more so in talent-
rich countries such as India and China. However, the immediate result of technological advancements is
observed as losses in employment.”

Reading thoroughly the 2nd paragraph, we can conclude that only statements (ii) and (iii) are correct.

S2. Ans.(b)

Sol. The most suitable answer is option (b). To validate this, refer to the 5% sentence of the last paragraph
“We can, therefore, conclude by saying that although technology in terms of automation has reduced jobs
for unskilled people, it has outgrown the growth in employment in other areas.”

$3. Ans.(c)

Sol. Among the given statements, statement (iii) is incorrect.

Refer to the last sentence of the 3rd paragraph “However, over 200 million global workers will need to
switch occupational categories by 2030 and most likely re-train because of role changes.”

S$4. Ans.(a)
Sol. Driven means moved, operated, or controlled by something.
Operated means control the functioning of (a machine, process, or system).

$5. Ans.(b)

Sol. Frittering means to waste money, time, or an opportunity
Squander means waste (something, especially money or time) in a
reckless and foolish manner.

$6. Ans.(b)
Sol. “giving birth” means to bring something into existence.

S$7. Ans.(b) SBI Po 2021

Sol. Eye to eye means If two people see eye to eye, they agree with each
other. Hence only statements (i) and (ii) are grammatically and CO M PLETE PRE+MAINS

contextually correct. NEW TARGET BATCH

Starts Oct 28, 2021 5PMto 9 PM
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$8. Ans.(c)
Sol. A stone’s throw means a very short distance. Hence only statement (iii) is grammatically and
contextually correct.

S9. Ans.(e)

Sol. Bite the bullet means to do or accept something unpleasant, often after a period of hesitation. Since all
the three statements provide the appropriate context of the given idiom. Option (e) becomes the most
suitable answer choice.

$10. Ans.(d)

Sol. The error lies in part (d) of the sentence. If the sentence compounds a positive and a negative subject
and one is plural, the other singular, the verb should agree with the positive subject. Hence, ‘decide’ should
be replaced by ‘decides’.

S$11. Ans.(c)
Sol. The error lies in part (c) of the sentence. ‘know’ should be replaced by ‘knows’. Note that singular

» o« » «

subjects joined by “or,” “nor,” “either ... or,” or “neither... nor” take a singular verb.

S$12. Ans.(c)
Sol. The error lies in part (c) of the sentence. Note that ‘To’ is a preposition with several meanings, including
“toward” and “until.” While ‘Too’ is an adverb that can mean “excessively” or “also.”

$13. Ans.(b)

Sol. The error lies in part (b) of the sentence. If hardly, scarcely, barely and no sooner are in the initial
position, the subject and auxiliary are inverted. Thus, the correct phrase should be “No sooner had the
company...”

$14. Ans.(a)
Sol. The error lies in part (a) of the sentence. Since the sentence is in past perfect tense, the correct phrase
should be “I had read...”

$15. Ans.(c)

Sol. Holds in the first sentence means to have something, especially a position or money, or to control
something: while ‘holds’ in the second sentence means to cause to stay or continue in the same way as
before. All the other words are contextually irrelevant.

$16. Ans.(a)

Sol. In the first sentence, ‘adapt’ means to become adjusted to new conditions; while in the second sentence
‘adapt’ means alter (a text) to make it suitable for filming, broadcasting, or the stage. All the other words
are contextually irrelevant.
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$17. Ans.(e)

Sol. In the first sentence, ‘reached’ means to make a decision, agreement, etc. about something; while in
the second sentence ‘reached’ means to stretch out your arm in order to get or touch something. All the
other words are contextually irrelevant.

Resembled means have a similar appearance to or qualities in common with (someone or something); look
or seem like.

Hovered means remain in one place in the air.

Recognized means acknowledge the existence, validity, or legality of.

$18. Ans.(b)
Sol. In the first sentence ‘emerge’ means to become known or develop as a result of something; while in
the second sentence it means to recover from or survive a difficult situation.

$19. Ans.(e)

Sol. After carefully reading the sentences, we can say that sentence (B) is the first sentence of the paragraph
as it introduces its theme which is about happiness. It has further mentioned a study conducted by Diener
which mentioned the connection of happiness with their social relationships. This has been further
explained in sentence (C). Next should be sentence (E) as it illustrates another factor (apart from social
relationships) that affects the mood. This can be understood by taking a hint from “also” mentioned in
sentence (E). Sentence (D) explains Diener’s theory on temperament. Thus, sentence (D) should
consecutively follow sentence (E). Sentence (F) should come next, as it provides the evidence supporting
the theory of Diener about temperament. Sentence (A) should be the last sentence in the rearrangement.
Thus, the final sequence formed is BCEDFA.

$20. Ans.(a)

Sol. After carefully reading the sentences, we can say that sentence (B) is the first sentence of the paragraph
as it introduces its theme which is about happiness. It has further mentioned a study conducted by Diener
which mentioned the connection of happiness with their social relationships. This has been further
explained in sentence (C). Next should be sentence (E) as it illustrates another factor (apart from social
relationships) that affects the mood. This can be understood by taking a hint from “also” mentioned in
sentence (E). Sentence (D) explains Diener’s theory on temperament. Thus, sentence (D) should
consecutively follow sentence (E). Sentence (F) should come next, as it provides the evidence supporting
the theory of Diener about temperament. Sentence (A) should be the last sentence in the rearrangement.
Thus the final sequence formed is BCEDFA.

$21. Ans.(d)

Sol. After carefully reading the sentences, we can say that sentence (B) is the first sentence of the paragraph
as it introduces its theme which is about happiness. It has further mentioned a study conducted by Diener
which mentioned the connection of happiness with their social relationships. This has been further
explained in sentence (C). Next should be sentence (E) as it illustrates another factor (apart from social
relationships) that affects the mood. This can be understood by taking a hint from “also” mentioned in
sentence (E). Sentence (D) explains Diener’s theory on temperament. Thus, sentence (D) should
consecutively follow sentence (E). Sentence (F) should come next, as it provides the evidence supporting
the theory of Diener about temperament. Sentence (A) should be the last sentence in the rearrangement.
Thus the final sequence formed is BCEDFA.
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$22. Ans.(c)

Sol. After carefully reading the sentences, we can say that sentence (B) is the first sentence of the paragraph
as it introduces its theme which is about happiness. It has further mentioned a study conducted by Diener
which mentioned the connection of happiness with their social relationships. This has been further
explained in sentence (C). Next should be sentence (E) as it illustrates another factor (apart from social
relationships) that affects the mood. This can be understood by taking a hint from “also” mentioned in
sentence (E). Sentence (D) explains Diener’s theory on temperament. Thus, sentence (D) should
consecutively follow sentence (E). Sentence (F) should come next, as it provides the evidence supporting
the theory of Diener about temperament. Sentence (A) should be the last sentence in the rearrangement.
Thus the final sequence formed is BCEDFA.

$23. Ans.(d)

Sol. After carefully reading the sentences, we can say that sentence (B) is the first sentence of the paragraph
as it introduces its theme which is about happiness. It has further mentioned a study conducted by Diener
which mentions the connection of happiness with their social relationships. This has been further
explained in sentence (C). Next should be sentence (E) as it illustrates another factor (apart from social
relationships) that affects the mood. This can be understood by taking a hint from “also” mentioned in
sentence (E). Sentence (D) explains Diener’s theory on temperament. Thus, sentence (D) should
consecutively follow sentence (E). Sentence (F) should come next, as it provides the evidence supporting
the theory of Diener about temperament. Sentence (A) should be the last sentence in the rearrangement.
Thus, the final sequence formed is BCEDFA.

S$24. Ans.(a)

Sol. The correct sequence is BADC.

Drone technology(B) is playing a vital(A) role in delivering food and other essentials(D) alongside relief
activities(C).

$25. Ans.(e)

Sol. The correct sequence is CDBA.

Freedom (C) of speech and expression available (D) to media is not on a higher pedestal (B) than the
rights of individual (A) citizens.

$26. Ans.(c)
Sol. All the highlighted words in the given sentence are correctly placed. Hence, no rearrangement is
required.

$27. Ans.(a)

Sol. The most suitable phrase to replace the highlighted incorrect phrase is “not only will you learn”. Note
that to add emphasis, we can use not only at the beginning of a clause. When we do this, we invert the
subject and the verb,
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$28. Ans.(c) TEST SERIES
Sol. The most suitable phrase to replace the highlighted incorrect EE:TTRTMITAR

phrase is “who will notify the management”. In a sentence, who isused = VIDEO SOLUTIONS
as a subject while Whom is used as the object of a verb or preposition.

$29. Ans.(¢) SBIPO 2021

Sol. The sentence is grammatically and contextually correct. Hence, no
replacement is required. m

$30. Ans.(d) 95+ Total Tests | eBooks
Sol. The correct replacement of the highlighted incorrect phrase is

“having seen the trailer last week”. The second part of the sentence is a participial phrase, which is a group
of words consisting of a participle and the modifier(s) and/or (pro)noun(s) or noun phrase(s) that function
as the direct object(s), indirect object(s), or complement(s) of the action or state expressed in the
participle.

S31. Ans.(b)

Sol.

Total unsold order of ice cream by shop E = 400 X % % % -6
Total unsold order of ice cream by shop D = 400 x % . % — 4

Required percentage = ? ¥ 100 = 509

$32. Ans.(d)
Sol.

Total orders purchased by B = 400 % = 80

20 ™ — 60

Total order sold by B = 400 x
100 7 100

Total order of chocolate ice cream purchased by B =60 x % x % =45

A5 100 _ 45
w0 75
So, total orders of strawberry purchased by B=80- (45 +12) =23

Total order of vanilla ice cream purchased by B = 60 x

$33. Ans.(d)
Sol.

Total cost for shop D =400 X — X 200 = 16000 Rs.

Total sold by shop D =95 8 of 209 of 400 =76

Total selling price

= 175 * (250 of 76) + 250 *(75% of 76)

=175%19 + 250%57 = 3325+14250=17575
(17575 — 16000)

Profit % = x 100 ¥ 109
rofit % 16000 &
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S$34. Ans.(a)

Sol.
. 10 40

Unsold orders of ice cream for A =400 X — x—= 16
100 * 100

Unsold orders of ice cream for B = 400 X —— X E =20
100 * 100

Unsold orders of ice cream for E = 400 X — X —— = ¢
100 ~ 100

Required average = % =14

$35. Ans.(a)

Sol.

Total orders of ice cream purchased by shop X

=400 X — X = =100

100~ 100

Total unsold orders of ice cream by shop X
=400 X = x 21— 400 X = x — = 24
100 * 100 100 * 100
So, total sold orders of ice cream by shop X=100-24=76

$36. Ans.(e)
Sol.

Required central angle = % ¥ 360°=126"

$37. Ans.(a)

Sol.

Let total initial mixture = 7x

ATQ -

(6x-21 X:—r??}+[x—21)<%]=14x

7x =56

x=8

So, quantity of the initial mixture= 7x = 56 liters

$38. Ans.(e)

Sol.

ATQ -
L+Lxﬁ —5g
1c||11><1—5Et -
1.4L =840

L = 600 meters
And, length of platform = 0.4 x 600 = 240 meters

Let length of train B = X meters

X+240 5
=90 X —
24 18

X =360 meters

5004360 950
=— =192 sec

Required time =————— =
(108-90)x= 5
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$39. Ans.(b)
Sol.

Let total work = 90x unit
Efficiency of A =90x X % X 415 = 3.6x unit/day
Efficiency of B = 90x X % X i = 9x unit/day

Efficiency of (A+ B+ C) =90x X :—5 = 14.4x unit/day

So, efficiency of C = 14.4x - (3.6x + 9x) = 1.8x units/day

Required percentage = % ¥ 100 = 50%

$40. Ans.(b)

Sol.

Let six years ago age of Kunal and Sagar was 6x and 5x respectively
ATQ -

6x+10 _ 11

Sx+10 10
60x + 100 =55x+ 110

S5x=10
¥ = 2 years
So, present age of Sagar=5x + 6 = 10 X 2+ 6 = 16 years

$41. Ans.(b)
Sol.

Profit ratio of A, B & C respectively
=2400x 6 : 2800 x 12 : 2400 = 1.2 =2
=14400:33600: 5760
=15:35:6
Let total profit = 56x Rs.
Given, 15x + 6x=4200
x =200 Rs.
So, total profit =56 % 200 = 11200 Rs.

S$42. Ans.(d)
Sol.

20
First year total Interest = 12000 x 100 = 2400 Bs.

For second year total amount = (12000 + 2400 + X)

12000 + 2400 + X) X =2 = 20400
100

X =2600 Rs.
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S$43. Ans.(a)

Sol.

.Lx=+16

ILy2- 16y -y+ 16=0
y(y-16)—1(y —16) =0

& —1) (v~ 16)

y=1&16

So, no relation can be established

S44. Ans.(e)

Sol.

Lx2+10x+ 10x+ 100=0
x(x+10)+ 10(x+10)=0
(x+10)(x+10)=0
x=-10
ILy2+10x+3y+30=0
v(v+10) + 3(yv +10) =0
(y +10) (v + 3)

y=—10 — 3

So, x=y

$45. Ans.(a)

Sol.

. 4% -8x-5=0
4x%-10x+2x-5=0
2x(2x-5)+1(2x-5)=0
(2x+1)(2x-5)=0

15

- 2'2

IL. 2y? -4y -Ty+14=0
2y (v-2)-7(v-2)=0
?I[ZF—?J{}’—EFD

=2’—
Y 2

So, no relation can be established between x & y.

$46. Ans.(c)

Sol.
L6x°+3x+2x+1=0
(Bx+1)(2x+1)=0

1 1

¥

2" 3
IL20y° +5y+4y+1=0
(4v+ 1) (Gy+1)=0

_ 1 1
YT Ty s
So,y=rx
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$47. Ans.(d)
Sol.
.2x*-9x+9=0
2% -6x-3x+9=0
(2x-3) (x-3) =0

3

¥xr=-—,3
2

IL6y:-17y+12=0
6y -8y -9y +12=0
(2y-3) (3y-4) =0
34
S 2'3
So,xzy

$48. Ans.(c)
Sol.
I. 4%* - 17x+15=0
4x° - 12x-5x+15=0
4x(x-3)-5(x-3)=0
(x-3)(4x-5)=0
1!-:=3,E

4
IL2y*-17y+35=0
2yt - 10y -7y +35=0
2y (y-5)-7(y-5)=0
r-5)(@2y-7)=0
F=5JE
So,y=x

$49. Ans.(b)
Sol.

TN Bilingual
Given, X = 1.25Y (l)

ATQ - -

L25YX2X20 _ ¥X3X20 _ 0 SPECII:II O'ffer
100 100

Y =4800

X=1.25 X 4800 SBI PO 2021
X =6000 Rs. PRELIMS

Required sum = 4800+6000 = 10800 Rs.

40+ TOTAL TESTS
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$50. Ans.(b)
Sol.

Let cost price of Jeans = 100x Rs.
Marked price of Jeans = 125x Rs.

Selling price of jeans = 125x X 22

100 100
= 106.875x Rs.

ATQ —

106.875x - 100x = 89.1

x =12.96

Cost price of jeans = 1296 Rs.

For 40% of profit

Selling price = 1296 X % = 1814.4 Rs.

S$51. Ans.(d)

Sol.
ATQ,

5 2
12+6+x 9

18
>x=—=9
2

9+12 21 7

—=— —_

12+6+9 27 9

Required probability =
Alternate,
Required Probability = 1 — Probability of choosing one green ball

-
#

&
=] -—=-
27 o

$52. Ans.(c)

Sol. Let the unit digit and tens digit of the number be y and x respectively.
Original number=(10x+y)

ATQ

1.75(10x+y) =10y+x

x:y=1:2

let the unit and tens digits be 2a and 1a respectively
Now, (21a) +9=2(12a)

a=3

unit digit=6

and tens digit=3

sum of both the digits=9
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S$53. Ans.(e)

Sol.
Let still water speed of boat is x km/hr and speed of current y km/hr
ATQ—
Let d be the distance covered by boat in downstream.
d
+ . d
(-3 (x+y)
v 5
X:y=11:5
S$54. Ans.(b)
Sol.

Total vacant seats in bus E= 15 X % * % =15
So, total vacant seatsinbus A, B,C& D=40-15=25

Total number of vacant seats in D =40 - (15 + 20 x 2 2axZE +15x ﬂ) =5
100 100 100

$55. Ans.(b)
Sol.

Total vacant seats in bus B = 24 x % =6

Total booked seats in bus A = 20 X % =12
Requiredratio=6:12=1:2

$56. Ans.(d)
Sol.

Vacant seats in bus 4 = 20 X % =8
. 40
Vacant seats in bus C=15 x Too = 6

Required percentage = ? * 100 = 25%

$57. Ans.(c)
Sol.

Total seats available in bus E = 24 x = * = 4 8= 40
100 18 s

So, total seats available in bus D = 65 - 40 = 25

20 X 1 E X 425 X
100

182w 100

Required percentage = (20415+25)

=86%5 100 =31 g%

=11
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$58. Ans.(b)
Sol.

Let total seatsinbus D =x
So, total seats in bus E = (65 - x)

ATQ -
(65-x) Xx2—x x 2= =10
8 100
975 - 15x - 8x =400
23x =575
x=25
: . 80 5
So, required ratio = 25 X Too" (65 — 25) x N
=20:25
=4:5
$59. Ans.(a)
Sol.

&0

]
20 Mt 2AN——+ 15
100 100

Required average =
_12+18+9
k]

3

13

$60. Ans.(e)

Sol.

A 380 + 64—7+901 =970
A7?= 1345 —970

& ?=375

S$61. Ans.(a)
Sol.

&

90
(— x 7000 + 5?6) +=7=1719
100
6876
7 —

© 1719
7=4

&

&

$62. Ans.(d)
Sol.

160 + 7 == % 350
100

?7=224— 160
?7=64
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S$63. Ans.(e)
Sol.

312

+169 = — X 910
* 100
P2-182-169
2=13
?7=24

S$64. Ans.(b)

Sol.

200 + % X 500 — 4 = 72
256 =72

7=16

$65. Ans.(d)
Sol.

B .25 x800+2=216
100

-
H

2 =216-210

7=14

$66. Ans.(e)
Sol.
729645138

638754029
8*4=32

$67. Ans.(e)
Sol.
Department
IT

HR
Production

[l Rl =
oo

$68. Ans.(a)
Sol.
Department
IT

HR
Production

[l ol o~
Ko o [

$69. Ans.(c)

Sol SBI PO 2021

e N COMPLETE PRE+MAINS
| NEW TARGET BATCH

HR
Starts Oct 28, 2021 5 PMto 9 PM

[l il o~
Ko o[

Production
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$70. Ans.(b)

Sol.
Department
IT p I |
HR M 0
Production | L Q | R
$71. Ans.(a)
Sol.
Department
IT P I |
HR M 0
Production | L Q R
§$72. Ans.(b)
Sol.
Month Persons Topics
January E Tea
May C Juice
June A Diaper
July F Coffee
September D Baby lotion
December B Cold drink
$73. Ans.(a)
Sol.
Month Persons Topics
January E Tea
May C Juice
J[une A Diaper
July F Coffee
September D Baby lotion
December B Cold drink
$74. Ans.(d)
Sol.
Month Persons Topics
January E Tea
May C Juice
J[une A Diaper
July F Coffee
September D Baby lotion
December B Cold drink
$75. Ans.(a)
Sol.
Month Persons Topics
January E Tea
May C Juice
June A Diaper
July F Coffee
September D Baby lotion
December B Cold drink
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$76. Ans.(d)

Sol.
Month Persons Topics
January E Tea
May C Juice
June A Diaper
July F Coffee
September D Baby lotion
December B Cold drink
§77. Ans.(c)
Sol.
AGGREGATION
Meaningful Word-- GAIN
$78. Ans.(c)
Sol.
0, < .
y J q
H ¢4 =3 E
B s
~ G
A B
$79. Ans.(a)
Sol.
C
D‘ 4 F
y J q
H ¢ 3 E
' s
A)?I b4 G
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$80. Ans.(c)

Sol.
C
D F
\ 1
n) | v
H gt - _} E
' sl
A(?I ‘# G
$81. Ans.(d)
Sol.
b : .
") 1 v
H F — = 4 E
' sl
A;I ‘g’ G
$82. Ans.(d)
Sol.
Points
$83. Ans.(a) TEST SERIES
Sol. BILINGUAL

VIDEO SOLUTIONS

Pennies

@ SBIPO 2021

 PRIME

95+ Total Tests | eBooks
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S$84. Ans.(b)
Sol.

$85. Ans.(e)
Sol.

$86. Ans.(d)
Sol.

Hﬂﬂ;n
ki

$87. Ans.(d)

Sol.

S s o e R
$88. Ans.(a)
Sol.

b=

$89. Ans.(b)
Sol.

— b=
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$90. Ans.(b)
Sol.

Month Date Persons
February 13 D
24 s
April 13 P
24 B
August 13 Q
24 R
October 13 M
24 H
S$91. Ans.(a)
Sol.
Month Date Persons
February 13 D
24 S
April 13 P
24 B
August 13 Q
24 R
October 13 M
24 H
$92. Ans.(d)
Sol.
Month Date Persons
February 13 D
24 S
April 13 P
24 B
August 13 Q
24 R
October 13 M
24 H
$93. Ans.(e)
Sol.
Month Date Persons
February 13 D
24 S
April 13 P
24 B
August 13 Q
24 R
October 13 M
24 H
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S$94. Ans.(b)

Sol.
CARBONIZE
BBQAPM]JYF

$95. Ans.(b)
Sol.
R(+)

H(+)=M(-)

V(-) = B(+) = A(-)—C(-)

$96. Ans.(c)

Sol.
R(+)
H(+)=M(-)

V(-) = B(+) == A(-)=— C(-)

S97. Ans.(e)
Sol.
Jar Water in
It.
C 33
D
A/B
B/A
F 15
E
$98. Ans.(d)
Sol.
Jar Water in
It.
C 33
D
A/B
B/A
E 15
E
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C 33
D
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